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14, The linesx — v+ 1 = 0 and x + ky — 3 = 0 have an angle of 60 between
them. For what values of k£ is this true?
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13. Lines L, and L, have n; and i, as their respective normals. Prove that the
angle between the two lines is the same as the angle between the two normals.
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(Hint: Show that ZAOC = 6 by using the fact that the sum of the angles in a
quadrilateral is 360°.)

12. The line segment joining A(—3, 2) and B(8, 4) is the hypotenuse of a right
triangle. The third vertex, C, lies on the line with the vector equation
(x, ¥) = (—6,6) + (3, —4).
a. Determine the coordinates of C.

b. Illustrate with a diagram.
c. Use vectors to show that Z ACB = 90°.

b OR=% o
L= -3¢
(043,2-2)+(3-0 ,442)
«Z\%@& /’i )= -k (314, (éo
kt\c\ Al \_@\ - l‘\i{ﬁ»\;«b‘o Ut -2

[
(‘Mb\“&n < ((ﬁ%ﬂ)w “4h-1)" 4 (34b-2t) +Q1 C,+H{’)
B0 = W ok 49 A le -t 16K £ @G ~Yuk <4 + 1ot -t 1y

Lines&Planes Page 1



B = ok 49 Al — ok 1Y 4 @G~k 4 A ot Lot —leb 4
BlEY ~ ot —16hE A0S
136 =

0~ 50" G oo
07D QC’ -3 4 'L>

o= E-1Yk1)
Q,(o 1) o Q>g<&3

KoL or kel
\3

8. A line is perpendicular to the line 2x — 4y + 7 = 0 and that passes through
the point P(7, 2). Determine the equation of this line in Cartesian form.
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